
45

45

LZDM

6
5

Außenmaß Tür =

LZDM+10+1xSpiegel

4
0

5
5

1
5

M
W

 
≥
 
1

0
0

1
5

7

A
u
ß

e
n
m

a
ß

 
T
ü
r
 
=

L
Z

D
M

X

OFF

Länge Beschlag

L = 2xLZDM +3xSpiegel

B

B

OFF

LZDM

A A

L
Z

D
M

45

L
Z

D
M

7

BE (optional)

Varianten:

wandbegleitender Aufbau

Beschlagskasten schraubbar,

lose mitgeliefert

Maß siehe

Beschlags-

varianten

S.

V1 V2

Profil  502.2

für 40mm Holztürblatt

502.2 Schiebetürzarge - vor der Wand laufend für Ständerwerk

einflügelig

Schließrichtung

Blende

abschraubbar

Schnitt A-A

Schnitt B-B
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